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a—FR i Fik | PR (kg) 2% (M) =il o Ll PE (BAL)
V3002 =H (AT 42 27,745 1,080 594 216 | B 42kg
31200 (LEE 842 32 32 32 BA 263
33810 AR 1,188 54 54 54| BN 2048
31700 % ¢ 40 5184 1,296 1,296 1,296 &K 4 —2R
31800 (FHNAE 6 1, 566 54 54 54| B 203
31900 72X 13 4,212 432 324 216 | BM 13kg
36800 HoX k9 2,700 378 324 324 BN 8kg
Y3041 HLHoX 1 5 2, 268 378 378 378 | B 6kg
34400 k= h 52 20, 088 410 410 313 | &M 52kg
34100  #/K 52 8, 834 38 38 27 BN 2587
34200 /I 156 27, 062 216 216 140 BN 156kg
34270 Xy F—= 12 1,620 27 27 27| BN 60A
35100 WA A 11 4,644 648 324 324 B 1lkg
Y3033 ZZHWAAT 75 8, 424 140 140 13 BA 75kg
Y3037 ALIZ A D 10 648 65 65 65 | &M 10kg
36260 2L wpi=h 200 30, 780 1, 620 1, 620 1,296 | BN 20— 2
36600 7-FhX 150 10, 530 70 70 70 | BHN 150kg
34780 BRKL S H AL 92| 28,971 130 81 76| BN 3074
34930 LA 23 8, 251 119 119 76 BHN 784
46108 SIIONE 2 2,344 497 270 270 | B TRy
71011 | RS L—% ' 21,114 54 49 38 B 4604
21021 ERE Y 1, 204 22 22 5 BA 10074
71050 4AfAE 324 11 11 11BN 304
71090 A X —F = 11 11 11 11 BWN 1K
71150 | LiT 1, 890 86 16 16| BP9 413K
71160 EF3E () 1,875 24 11 11 BW 1124R v b
71186 =Y " 2,365 76 76 24| B 454
53456 7= NIRiE 799 400 400 400 | BN 2kg
39870 Z D 12,911 3,240 378 324 | BN 9kg
Y5010 obAE (F) - 1,777 378 378 378 | BN 5kg
130100 NI A 120 18, 198 162 162 135 BB 1204
30100 72WVWZ A L 20 3,672 1,836 1, 836 1,836 RERE 27—
30300 A% 2L 40 7,776 1,944| 1,944 1,944 FEA 44—
30300 A% L 100 14,256 1,620 1,404 1,404 FEIR 10— %
31100 AR 15 1,836 1,836 1,836 1,836 Bl 15 —2
31100 AX - 60, 6,048 1,620 1,512 1,404 BEIRE 4r—=
31200 |LH3E 4 1, 296 65 65 65 FEIRE 204%
33500 5 XK L 1 130 11 11 11 &M 1243
33810 #HAEE T 8 3,888  1,944| 1,944 1,944 BRS 24— A
33810 HAEHE 4 1,080 54 54 54 IR 204%
37440 A bi 2 896 896 896 896 2R 5 17— =
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4 | - HE  BREE A
a—R P Fik | PER (kg) B %E (H) e i S P Hi (HA5L)
Y5005 &KEAN 5 1,534 1,534 1,534 1,534 K5y 1 —2
Y5005 4 7K2E A 12 1, 458 32 o 22| k4% 5948
31700 F v~y [ 100)  11,124| 1,296 1,080 972 | ERE 104 — =
31730 7Y —rR— L 100 5, 400 864 540 540 | BB 1047 — A
31800 1) NAE 8 4, 320 140 108 108 | =5 4048
31950 @ARE 15 3, 186 648 648 594 | I 54—
31900 7 X 4 2,538 378 356 356 B IR 75 (500g) |
32800 2% S 5 1,944 43 43 32 | B 505
34300 7o 55|  17,496| 1,728| 1,512 1,512 EEA 1nr—= |
34400 k= b 48 29, 376 184 184 184 | ‘= 16073y 7
34400 b= b 32 9, 623 1,296 1, 296 864 |5 84—
34400 k= k M 12 4,860 1,620 1,620 1,620 |fEWRE 37 —x
34460 I =L F & 10 5,378 130 130 81 | EIRE 48,3 7
34100 #AIK 50 11, 804 92 86 65 | & IR 13648
34100 iﬁﬂ)l& 80 18, 144 1, 296 1, 080 1,080 | ERE 1677 —A
34100 iaﬂm L 10 2, 808 1, 404 1, 404 1,404 | =% 247 — R
34100 #AJK B 30 1,944 594 324 324 |EIRE 645
34200 /K 30 2,592 864 864 864 | =2 —— 347 —2R
R
34500 B —= 1 38 16, 492 92 86 86 | ‘= IR 1894%
34571 X7 U H (R) 1 972 194 194 194 | REAR 548
34572 TV (H) 1 1,026 205 205 205 | K 54%
36600 7=EnE LK 60 7,128 2,376 2,376 2,376 | dbigiE 3r—=
37200 L x 58 2L 4 3, 780 3, 780 3, 780 3,780 | & 1 —=
37200 L Xx 58 2L 12 4, 374 1, 458 1,458 1,458 |H[E 34—
33400 L& & 12 3, 888 162 162 162 | K43 244&
33410 H=—1L & 2 L 3 162 11 11 11 f&fH 151
33600 S& Y 1 356 119 119 119 | & RE
38100 A LWzt 8 5, 940 81 70 70 | =R 80,3y 7
31310 A§°3 4 1,296 65 65 65 | 1@ I 2045
31500 /MAEE 16 6, 264 86 86 0| ERE 804
32500 AT 2 756 54 54 22 | K5y 205
37560 BRIT 1 3, 240 432 324 324 | K5y 103> 7
36400 72301 M 20 5,616 2, 808 2, 808 2,808 | &4 247 — A
38400 D EFH 5 1,404 1, 404 1, 404 1, 404 | K% 17—
38521 R LHUE 9 6, 318 86 86 38 | 1@ [ 904%
41200 X—TAFLLY L 10 1,83 1,836 1,836 1,836 AEA 1/ —3%
41410 LEYV 15 9,612 9,612 9,612 9,612 7 AU A 147 —2R
41450 B R 4 1, 296 216 108 108 | IR 5 124%
46000 Wb = M 14 7,258 151 151 151 & 48,8y
46108 I I DONFEF 10 4,493 140 140 140 | BER 323w 7
47440 HR—AhTF o Am L 3 1,685 281 281 281 IR o1&
4T4T0 N ERmy 20 7,193 238 86 65 HEIRE 621E
49100 AFF 60 19, 224 3, 888 3, 888 3,456 | =7 7 KL 5 —2R
49100 NFF 12 3, 780 3, 780 3, 780 3,780 74 YUY 1/ —2A
49420 TARA K 5 1,080 1,080| 1,080 1,080 AXi 1A —3%
Y4007 F—AF L FTA 10 6,912 3, 456 3, 456 3,456 | =2 —T— 24— 2R
TR
71090 R Z—F = 2,808 76 43 43 | KB 504
71190 7% ' ” 2, 095 48 32 32 | KBKIF 604
Y3050 FE (G1%) , 0 4,709 4,709 4,709 4,709 | KFRIF L
&t 2,315 579, 769
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